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A
I‘IiH:
C}—Ol:

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

206 M= dl 6,514 5,614 900
3,257

947
2,310

= H W

01 TH 6,514 5,614 900

914,000& 914

457
133
324

©°

all
HMS LM KT (2M) +

= H W

OZFYME AT (XS 2 4
20, 5&+200H 2,000

1,000
285
715

= N W

2,700,000& 2,700
1,350

394

956
ONMEEE LRI 2 900,000& 900
450
135
315

= NN

= H W

401 AIEHIZ 208 262,610 53,697 208,913
153,051
34,339
75,220

= H W

01 Al£Hl 253,392 50,946 202,446
OALISEoi S AAIZAHL
13,671,000 * 14| 13,671

7,109
1,914
4,648

= HnH

OALI2 M

x
Ot
08
oo
0B
0z
>
>
2

17,208,000 * 14| 17,208
15,954
376
878

= H W

O2L=2

x
Off
oF

=S EHRICH 2 ALY

59,740,000 14 59,740
41,819
5,376
12,545

= H W

OSZE2AXNE-oHH IS LAY

154,634,000 * 14! 154,634
80,045
24,433
50,156

= N W

OXNgdgXNdLHAIL-e =L e
1,486,000& » 14| 1,486
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SN R D
HE: AAMAUS (SYHLSA/LY - HE)
ool MBS (ol &2
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 e HRE2
= 769
= 215
Al 502
OSEHTMYHAY-22| LH2 2
2,957,000 14 2,957
= 1,524
= 430
Al 1,003
OZES TSR AL-DIELH S
3,696,000 14 3,696
= 1,905
= 538
Al 1,253
02 Zeldl 7,550 2,249 5,301
OAULRHSSH Zalbl 7,550,000& 14 7,550
= 3,926
= 1,057
Al 2,567
03 Al =204l 1,668 502 1,166
OIS TIAY Al 2 THY|
231,582,002 0. 72% 1,668
402 It KHE01H 101,478 68,861 32,617
= 66,532
= 10,483
Al 24,463
02 SIZ2+CHEH At I 101,478 68,861 32,617
OL2Z 2 X Ll -THoH K 2 At
58,677,000& x14! 58,677
= 29,339
& 8,801
Al 20,537
O2LISTHA B E-0I LR = A}
42,801,000& 14! 42,801
= 37,193
= 1,682
Al 3,926
AEEAELT JIHEY P (HE) 3,150 1,500 1,650
= 1,575
= 473
Al 1,102
405 XtobE SHI 3,150 1,500 1,650
= 1,575
= 473
Al 1,102
01 T =SS HSHI 3,150 1,500 1,650
OMYYHTH PL(SHHSIIIINE S)
3,150,000& 3,150
= 1,575
= 473
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SN
X XH .
S Tt

el

Parei
AAMAY S (SHYLA/SY - &
AYHSLH

SA - E . B (BIH) - MR Aol a4 HRSZ
- o= T\ 2 * - [= (R 04”:"% Wsa
Al 1,102
MESHoHU AL (EX) 6,000 5,454 546
= 3,000
== 900
Al 2,100
402 SIZ2tX=201A 6,000 5,454 546
= 3,000
= 900
Al 2,100
01 28 =x 6,000 5,454 546
OO0tM== TIoHUMEAIE &X
6,000,000 * 14 6,000
= 3,000
== 900
Al 2,100
NS0 &RJIAHH|(EX) 13,866 13,866 0
& 4,160
Al 9,706
101 1A H| 13,866 13,866 0
= 4,160
Al 9,706
04 JIZEHIZ2ZANSE 13,866 13,866 0
OMEsY oz olAh| 12,480,000 12,480
== 4,160
Al 8,320
O4UEE I|&a2e2 12,481,000& x11. 1% 1,386
MESELDS ALY 3,000 3,000 0
307 QIz2to| A 3,000 3,000 0
01 =Y R=H| 3,000 3,000 0
ORMOMES 42 2 2AX
200,000& =150t 2] 3,000
A THOH Ol & 83,458 73,753 9,705
101 1A H| 31,508 30,657 851
04 JIZtMI22XNHsE2 31,508 30,657 851
OMBMHARK 2327 0%
52, 710& x 10 7 x33] 11,070
OKALERRIE X =S A o182
52, 7103 x10H 8L 23] 8,434
OSKZANE Rl 02
52,7103 x6H *7 2 x4 3] 8,856
4 IIA2E2 28,360,000& *x11.1% 3,148
201 dEt2dd| 6,900 5,700 1,200
01 At22tell 5,700 5,700 0
O4. 1| 2 H| 400
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2N 27
M RH: OlA
S Tt =

2

=)
o —/
el MEYEHSE

l:‘}\ X xH Cte| (3 }\ C‘}\ o HAEZ A} OH X‘—-IL‘EL‘:— 2JF
-~ S2ET BY=(20, #5 S) P
& 50,0003 8% 400
O6.9xtz 5,300
—tHE Mo S=2=5+7 ZHIgX 5,300
= AI 350,000& ~6CH 2,100
TEHIEEH 350,000& +4CH 1,400
*Itn3gel 450,000 *4CH 1,800
02 52234l 1,200 0 1,200
O2H4& HHHXEO MII2  100,000& x12E 1,200
206 M=l 5,050 5,050 0
01 M=l 5,050 5,050 0
Ot Moo & s+ 4 7 2,500
-HI & 150,000& 102 1,500
-4 2 58 10,000 = 100K 1,000
OSH2AE RXES M 2L 2,550
-SA42 HOAIZE(YR) 222
15,0002 1004 1,500
-SAEZ BHIAANLS(EM) HIE
5,000 «30H 1,050
401 Al EHIL 201 40,000 32,346 7,654
01 Al£Hl 40,000 32,000 8,000
OO0 X =8 sS4 FH| 30,000, 0003 14 30,000
OSHtz HMSAEES B3 A
10,000,000 * 14| 10,000
HY2SZHI(Z7 &) (JIEHIIE 84,130 84,130 0
Jl=2ZHi(g7 &) 84,130 84,130 0
F N2 13,930 13,930 0
201 EH2HH| 13,930 13,930 0
01 AtR22iHl 13,450 13,450 0
ORM2Z Let=EH| 4,120,000& 4,120
ORM2Z daABEH| 4,200,000& 4,200
ORM2ZE =&l 5,130,000& 5,130
02 2322l 480 480 0
ORMN2E 38R= 480,000 480
R0 66,000 66,000 0
202 Oddl 66,000 66,000 0
01 WY 66,000 66,000 0
OFRYUSF=E 0l 20,0003 »25F 11«12 66,000
PR =8 4,200 4,200 0
203 HRF4Hl 4,200 4,200 0
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A ERHALSDED
M TRAE2 22 (2UNE/E2)

@t S2AEE R (et =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
gRAd8 s 12,867,606 10,219,162 2,648,444
= 721,172
S 1,010,091
Al 11,136,343
CZANEE 2l (+8LRE/ER) 10,360,972 7,981,778 2,379,194
< 970,000
Al 9,390,972
SZANEE 7R 3,435,351 1,890,437 1,544,914
CZANEE mA2e 3,435,351 1,890,437 1,544,914
101 el 4] 26,103 26,097 6
04 JIZHMIZ2XEE =+ 26,103 26,097 6
O WSEXA 2Y
38,850 x2&H 2«20 A 3,108
O4UEE JI22E3 3,108,000& *11.1% 345
Oz SHEEZ Az (Ldgitel &#E) 22,650
-012e 200,000 15 +7& 21,000
-28 ¥ f0& 110,000& «15H 1,650
201 2et=&Hl 1,099,063 665,389 433,674
01 AtR22iHl 40,118 52,431 212,313
O1. L= 17,550

SCAEIZ Y DEITAR JIESS|
0

5,000,000& 5,000
B (NETH SR8 ol (Y
Skl = 300,000& «1200 2 3,600
“HIIZ 44B(ER24Y NY M) 6.000
HOIAEE 3,000,000& 3,000
"HE3eE 3,000,0002 3,000
~BSENE SHEH B 2,950
* & XI(A0) 12,0008 102 120
TS ALZ X (A3) 22,0003 x108F & 220
TS ALE R (ML) 21,0003 158t A 315
TEZEH &Y 450,000 *4JH 1,800
‘226 93 165,0002! +37H 495
O5. =&t 13,468
—SSEAY =4 7,000 20 35 4,900
SCHY B ORIZEX 24
7,000 x5F x 902U« 12& 3,780
-SRRXBE ORA2LX 24
7,000 x5E x 02U« 12& 3,780
SIS ORA2RR B4
7,000 x3E x4 122 1,008
O6.8x& 9,100
AZEE2=ATY YRE
350,000& *2CH 102 7,000
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A ERHALSDED
M TRAE2 22 (2UNE/E2)

thel: TZAIE2 |2 (9 E2
- _ _ MNEC
NS H2A(SH) - MRAY - BES e @E%
S AEIZ EHEH 2iE
350, 0003 »2CH *33] 2,100
02 =323l 1,058,945 612,958
O1.3323ZLANA 1,047,445
-E2E4P HYE 2ESHY B3RS
47,0003 x50+ 12& 2,820
-CRE¥EZ gsE2 3,125
s)|RH 1,750 *1,50024 2,625
Aot H 2503 *2,000A 500
-2EEMAF SIRESE =8
1,000& *500= 500
-25 9 oM S5 4,000& x250A 1,000
-tz (BEeh s diles 1,040,000,000& 1,040,000
O3. A& Z&HIR Xl 11,500
-tes EaXtg AR 600,000& *33] 1,800
LES HEEHL 3F A2 (SFU 2 4
E) 8,700,000& 8,700
SR GE 0S4 FEI| el L Z A
00,000& »23| 1,000
202 4| 5,400 5,400
01 2o 5,400 5,400
OLAAXSHEFA Kyl
60,000 x2H 52 x53| 3,000
OHEYUEXNEA & 2& A8 usEHW bl
60,0003 x2H 2 x102] 2,400
206 M2 H| 69,000 69,000
01 MH=z=Hl 69,000 69,000
=22 JYEP 7Y 2,000,000 2,000
OANULR Jt2(2eh s 2410 7¢
22,000, 000& 22,000
OZZANEZ2 EXM 2 36,000, 000& 36,000
Ok=zzd ¢ HMeEdy 1M 2
9,000,000 9,000
207 A0y 198,000 48,000
01 A= S| 180,000 30,000
OUHuz FI18d 2948l 15,000,000& *23] 30,000
OZUng HUoM gAY 150,000, 000& 150,000
02 &A&HHEdl 18,000 18,000
OZZAIEZ2 GIS SA22ldl 6,000,000 *3km 18,000
301 L2 AZ 64,280 64,280
09 SU2RRABH = 64,280 64,280
O3UZRA(UNHE Y FHHE) 64,280
|23 88,0002 *20H «12& 21,120
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SA YRALNED
MM CR2AHS 22 (2 LDNE/E2)

Sl SRAILE 2K (2o @e)
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
-Z Y| 5,000% «20% 222 » 12 26,400
-DEH| 2,000 202 »222 » 128 10,560
-m=l 140, 0002 20 x23 5,600
-Eoe gaad 15,0002 ¥20% 22 600
401 AlEHIL 2T 1,967,505 988,371 979,134
01 Al&HI 1,941,590 985,000 956,590
OBUEZ AZRX 24 300,000,0008 *14] 300,000
OJn=Zs 24 50,000, 0008 * 144 50,000
OS8is 2os Ay 126,700, 0002 * 14! 126,700
OR =g MIIAL Ha 50,000,000 « 14! 50,000
OB =T FHIBA
100,000,000 * 14} 100,000
O3S k=S SZLAH  50,000,0008 *14] 50,000
OZFZTUMS 20 LA 516,950
~A AL 500,000, 000! £3.39/ 100 16,950
L] 500,000, 000! *14! 500,000
OB A2CH2] FYOHMZIE  100,000,0008 *14! 100,000
OBAMZ oI U OHMAIZE HHIZAHL=1,800
m,B=3m) 30,000,0008! * 144 30,000
O&oratiel 243 Al 617.940
&AL H 600,000,000 %2.99/ 100 17,940
SAELI 600,000, 0002 *14! 600,000
02 el 19,410 0 19,410
ORY B4TA 22t (82302l 24TA
9 1H2) 19,410
~sor2ttel B4BA
600,000, 0002 *1.66/ 100 9,960
SHSBNUHSHENY EHTA
500,000,000 *1.89/ 100 9,450
03 Al& SOt 6,505 3,371 3,134
OZZAEE KX ALRHH
1,806, 700,000 *0.36/100 6,505
405 Xhorz S| 6,000 23,900 A17,900
01 A2 EFSH| 6,000 23,900 A17,900
O=HAHES 23H 22 1,000,0002 10H 1,000
O BALD| 5,000, 0002 1CH 5,000
SADIBAIE RS 6,925,621 6,091,341 834,280
= 970,000
7 Al 5,955,621
SAHE SRS 4,977,413 4,702,215 275,198
401 AlAHIL S| 4,977,413 4,702,215 275,198
01 Al£H| 4,965,000 4,689,660 275,340
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SN ERALDED
By CRAL2 22(+ELDS/ER)
SHel: SADIBAI L T

2N -3 - c2(3H) - NEME - HES 0] At oH

O 2H2| TAHEE2(A2-34) & (L=70m

,B=8m) 100,000,000 * 14! 100,000
O 24| TAHEE2(22-62) M4 (L=190

m,B=8m) 300,000,000 * 14! 300,000
OSol &322l SAHE T2 (A2-15)H & (L=410

m,B=8m) 100,000, 0002 * 1A 100,000
O2A 24| TAHEZZ2(A21-11) A (L=560

m,B=10m) 300,000,000 * 14! 300,000
O 2H2| TAHEE2(A2-76) M & (L=256

m,B=8m) 300,000,000 * 14! 300,000
OHY QAL STAHEEZ2(A1-14) ML (L=172

m,B=10m) 300,000,000 * 1A 300,000
OQA 24U TAHET2(A2-79)H 4 (L=45m

,B=10m) 300,000

—A Al Z H I 289,212,0002 x3.73/100 10,788

-Al &8 289,212,000 x 14! 289,212
OSoll ¢HE| SAIHE T2 (A2-4)I1 4 (L=300m

,B=8m) 200,000

—& Al & H Bl 192,159, 0002 4 .08/ 100 7,841

—-Al & 192,159,000 * 14l 192,159
O0lE s RUQIME SFEH SAHE2(A21-2)

JH & (L=50m,B=10m) 100,000, 0002 * 1A 100,000
OFHEs TANHETZ2(23-2)I 4 (L=600m,B=6m

) 100,000, 0002 * 1A 100,000
OHY S22| TAHEZ2(A23-14) A (L=50m

B=6m) 150,000

-2l Al & HIH| 144,119,00024 *4.08/100 5,881

—-Al&H| 144,119,000 * 1Al 144,119
OMEES TANHET2(A3-1)I4 & (L=337m,B=6m

) 300,000

—&l Al HIH| 289,212,000 %3.73/100 10,788

-Al&H] 289,212,000 * 14! 289,212
O0lds T AHET2(E3-93) M4 (L=304m,B=1

om) 400,000

-4l Al HH| 386,884, 0002 x3.39/100 13,116

-Al &bl 386,884, 0002 * 1A 386,884
OFHEs TANHEZ2(21-8)I & (L=150m,B=10

m) 300,000

& Al & HYI 289,212,0002 x3.73/100 10,788

-Al &bl 289,212,000 x 14! 289,212
OREZ dHe TAHEZZ(F3-87)MA (L=

100m,B=12m) 300,000

& Al & HYI 289,212,0002 x3.73/100 10,788

-Al & | 289,212,000 x4l 289,212
OsEs TANHEZ2(A3-457)M4 (L=170m,B

=6m) 200,000,000 * 1A 200,000
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2N HPALDED
3 TRANES 22 (5L US/E2)

Sl SADIPAIE RS (crel @
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; Hws2
OTEZ 2LEY TAHHT2(22-34) & (L
=230m, B=6n) 200,000, 000! * 14} 200,000
OFEZ PEH2 SAHHCZ(21-2)HE (L=
600m,B=10m) 200,000, 000! * 14} 200,000
OFEZ IEH2 ZAHNYCZ(Z3-83)M& (L
=130m,B=12m) 200,000
- Al 3| 192, 159,0002 *4.08/100 7,841
-Al gt 192, 159, 00021 * 14} 192, 159
OB2E TANAC2(F3-133) HEH
35,000,000 *14! 35,000
OBXE =AIHEE2(£3-2) & (L=60m,B=6m) 150,000
~&l A& 144,119,0002 <4.08/ 100 5,881
-Al &t 144,119,0002 * 12| 144,119
OUE M2l SAIHEEZ(£2-3)H4 (L=130m
,8=8.0m) 200,000
~& A& A 192, 159,0002 4.08/100 7,841
-Al & H] 192, 159, 00021 * 12} 192, 159
OtE MUel SAIHEEZ(£3-6) N (L=70n
. B=6.0n) 100,000
~A A& H I 95,138,000 %5. 11/100 4,862
~Al & H] 95,138,000 *1 4! 95,138
Otz MUel SAIHEEZ(£2-1)I44 (L=20m,
B=8m) 130,000, 00021 * 14} 130,000
03 Al& =] 12,413 12,585 A 142
OZAHHCT2IME A2
12,413,0009! %141 12,413
CAESAML(EX) 1,605,760 905,670 700,090
= 800,000
Al 805,760
401 N &HIYL2 Y] 1,605,760 905,670 700,090
= 800,000
Al 805,760
01 Al&l 1,600,000 900,000 700,000
OtE M2l SAIME SR (£2-7)(L=240m,B=8
m) 200,000
-l Al & A 192, 159,00021 4.08/100 7,841
-Al &t 192, 159, 00021 * 14} 192, 159
< 100,000
Al 92,159
O%Y 22| TAIHEEZ(42-11)(L=120m,8=
8m) 300,000
-l Al & A 289,212,0008#3.73/100 10,788
-Al & 289,212,0008! 12| 289,212
= 150,000
Al 139,212
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2N HPALDED
3 TRANES 22 (5L US/E2)

Rl ZADDIBAIE 2= (et =3
_ _ _ N E
SN H - SR(EH) - NPAMY - BES 0] &F o o HlE2
O2& MAel ZAIHE S 2(52-12)(L=400m,B=
15m) 200,000
-& Al & AIH] 192, 159,000% *4.08/100 7,841
—-Al£Hl 192,159, 000& » 14 192,159
= 100,000
Al 92,159
OFEXZ EXe| TAHEZZ(E3-73)(L=200
m,B=12m) 100,000
-& Al & AIH] 95,138,000&*5.11/100 4,862
—-Al£H| 95,138,000& » 14| 95,138
= 50,000
Al 45,138
O 23el ZAIHE T2 (22-15)(L=480m,B=
8m) 200,000
-& Al & AIH] 192,159,000% *4.08/100 7,841
—-Al &£ Hl 192,159, 000& » 14 192,159
= 100,000
Al 92,159
O S TAAHEZZ(F2-26)(L=240m,B8=15m) 600,000
—& A& AIHI 582,580,000% *2.99/100 17,420
-A& | 582,580,000 * 14| 582,580
< 300,000
Al 282,580
03 Al&Z =04l 5,760 5,670 90
OEANESAIY AIE20H4I
1,600,000,000& *0.36/100 5,760
s g8~232 TAHEZZ(E3-2) HE(EX) 201,440 0 201,440
& 100,000
Al 101,440
401 A EHIL 201 201,440 0 201,440
= 100,000
Al 101,440
01 Al&HI 200,000 0 200,000
Ol Ha-B42 TANEER(53-2) (=400
m) 200,000,000& 14! 200,000
& 100,000
Al 100,000
03 Al R04Hl 1,440 0 1,440
Ol La-B42 SANEER(S3-2)0e
INE=EN s ] 200,000,000& x0.72/100 1,440
FOU=AC AL (KNS ACZA)(EX) 141,008 282,016 A 141,008
= 70,000
Al 71,008
401 Al&HI LR OHYI 141,008 282,016 A 141,008
= 70,000
Al 71,008
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A gRAE NS
HH: TRALEE 22 (+SHWE/ER)

SR SADIBAIE RS (et =3
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 A&l 140,000 282,016 N 142,016
Oz0I2H el ¥5==2 HE S AHL=100m)
140,000, 000& » 14 140,000
= 70,000
Al 70,000
03 AIZ SR04 1,008 0 1,008
OXNYGEAT Z ALY AIZ 20|
140,000,000% +0.72/100 1,008
THTHOH O L (BB E ML /THHE T - 1) 1,968,816 1,729,784 239,032
= 721,172
= 3,131
Al 1,244,513
ISE=gue DAD/ 1,873,152 1,649,023 224,129
= 718,934
Al 1,154,218
EnyelFalPSha] 407,680 387,368 20,312
201 LEH2HH| 2,100 2,100 0
01 AtER22/Hl 1,000 1,000 0
O1.gegr=EH| 1,000
-A0E YR JIEI=EHI 1,000,000& 1,000
02 223l 1,100 1,100 0
O1.3323LHA 1,100
-AOIEEEE 1IN BEREZ 1,100
s)eH 1,750& *400A 700
TEESRE 2503 = 1,600 400
202 O4dl 2,700 2,700 0
01 WA YI 2,700 2,700 0
OMUZe M2NSs L MH22ALLEE Ol
60,0003 x3E x3L 53] 2,700
401 Al &HIL 201 402,880 382,568 20,312
01 Al&HI 400,000 380,120 19,880
OFELZ A4EF FHIBAEAZ)
50,000,000& * 14! 50,000
OU&Ed =H43& HHISAHL=100m)
70,000,000& *14! 70,000
OFIIH SAFE HUIZBAL (L=100m)
50,000,000 =14l 50,000
oo RREA HHl S AHL=200m)
100,000,000 * 14! 100,000
O ZHE HHIZBAL (L=400m)
100,000, 000& » 14 100,000
Ozl A6td AIEdE2 SXE= (POOL)
30,000,000& *14! 30,000
03 AIZ=20Hl 2,880 2,448 432
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SN ERALDED
B TGN 2 (BBE AL /T LT - 01)

ol Aol X (e e
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K %Egﬁ HusZ
OAGHE ZHIALY AI&SHY
400,000,000 %0.72/100 2,880
NCEETIEES 1,437,868 1,233,631 204,237
2 718,934
Al 718,934
401 AlAHIL 2T 1,437,868 1,233,631 204,237
2 718,934
Al 718,934
01 Al£H| 1,432,710 1,229,277 203,433
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